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Unit is compuisory.

q$i

5ET ,i .fi.not itiam # 3ilElrl-'lTfiq, qrsr atfuq t

Critically explain the euantity theory of money.
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Inflation is unjust and deflation is irnproper" Out of these
two deflation is the worst. Iixplain.
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What is Central Bank ? Descritre, how the Central Bank
does credit control.
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Write short notes on 1he foil:v,ling :

(a) Credit Creatiori by Comrnercial ltank

(t) Functions of Central Bank
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Critic;illy e xplain tlte princritrlle of titarirnutn social

advantage.
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\\rhat do you unrJerstand by Public llxpeniliture ?

Describe the effects of public expenditure otl prodtrction

nnd distribution of wealth in tite society.
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Describe the nicrits and dernerits of direct and indirect
taxes whiie explaining the mearring of direct and indirect
taxes.
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Wrlte sli.Jrt notcs on any /'|r,o of the folk:rving :

(a) 'l'axable Capacity

(b) Impact and [ncidence: of taxation

(c) Shilting of tax
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lixplain the ciiftbrenr" metirads cf pubiic clel:t redernption.
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Whilt is Budget ? Desr.:ribe the econornic and functional
cl assi fication *f Ilu<Jget.

[][)-2 [ 60 7,00$

{"i1"-$3 }

t2l DD-2160

)


